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General Instructions:

This paper contains two sections. All sections are compulsory,
Section A ~ Reading — 20 marks
Section B — Writing & Grammar - 20 marks
Section C - Literature - 40 marks

» Read all the questions carefully

» Attempt all questions
» Adhere to the word limit prescribed for each question

e Sl A o i 8

L]

e S ———

SECTION A- READING [20]
[10]

I. Read the given passage and answer the questions that follow:
1. The beginning of this fun-filled season with the sun hidden behind the grey clouds brings cheer to many

of us, waiting eagerly to splash in the rain. Of course, not everything about rain is glamorous. Especially
when you think about endless traffic jams, the bad roads dotted with potholes, uncleared garbage and the
spate of waterborne diseases. Also, viral infections like colds and coughs make their presence felt.

2. Most infectious diseases prevalent in the rainy season can be prevented by simply washing our hands
regularly. Scrubbing hands regularly with water and soap can prevent us from contracting respiratory and

diarrheal diseases.

3. Kids have a lower level of immunity, and hence hand washing becomes a crucial part of their lifestyle.
When playing, especially during monsoon season, kids come into contact with germs and can unknowingly
become infected simply by touching their nose, eyes or mouth, The Food and Drug Administration states

that the human influénza virus can survive on surfaces for up to eight hours, making people susceptible to

 catching it each time they touch the infected surface. Hence repeated hand washing is required.

4. To make the best of the rainy season, we should follow some simple guidelines. First, if we decide to get
wet in the rain we should change into a dry set of clothes at the earliest. Also, we should keep raw food
items at bay and wash vegetables and fruits thoroughly before use. Moreover, strict kitchen hygiene should
be maintained in order to enjoy one of the most beautiful seasons of the year. Also, in order to have a
trouble-free rainy season, home-made fresh food should be given preference over the fast food sold in the

market.

Q (1). People wait for the rains since they can in it. [1]
(a) splash

(b) have potholed roads

(c) spate of waterborne diseases

(d) endless traffic jams L4

Q (2). After getting wet in rain, we should put on dry clothes [1]
(a) as late as possible

.(b) whenever we like to
(c) as early as possible

(d) when we fall sick
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' Q (3). Besides maintaining kitchen hygiene, we ¢hould g foy keep 1 disends free in the
(1

rainy season.

(a) avoid raw fruits

(b) enjoy raw fruits

(c) avoid vegetables

(d) consume more fruite and vegetables

<=3

Q (4). The passage suggests that small children should wash theit hands [

~in the rainy seaton since they have lowet immumity.

(a)Frequently

(b) rarely

(c) after every meal
(d) before every meal

Q (5). The word in the passage which means the same as’ prone and vulnerable ‘is (1]

(a) dotted

(b) hygiene
(¢) susceptible
(d) influenza

Q (6). What does the author suggest in order to have a trouble-free rainy season? (2]
Q (7). Mention any two disadvantages of the rainy season as mentioned in the first
(2]

paragraph.
Q (8). Pick out a word from the first para mgh which means the same as: happmess (1]

II. Read the given passage and answer the questions that follow: [10]
Airplanes have the reputation of being dangerous and even hardened travellers are intimidated by them.

They also have the grave disadvantage of being the most expensive form of transport, but nothing can match
them for speed and comfort, travelling at a height of 30,000 feet, far above the clouds, and at over 500 miles
an hour is an exhilarating experience. You do not have to devise ways of taking your mind off the journey,
for an airplane gets you to your destination rapidly.

For a few hours, you settle back in a deep armchair to enjoy the flight. The real escapist can watch a free
film show and sip a hot or cold drink on some services. But even when such refreshments are not available,
there is plenty to keep you occupied. An airplane offers you an unusual breath-taking view of the world. You
soar effortlessly over high mountains and deep valleys. You really see the shape of the land. If the landscape
is hidden from view, you can enjoy the extraordinary sight of unbroken clouds, plains that stretch out for
miles before your while the sun shines brilliantly in a clear sky. The journey is so smooth that there is
nothing to prevent you from reading or sleeping. However, you decide to spend your time, one thing is
certain: you will arrive at your destination fresh and uncrumpled. You wﬂl not have to spend the next few

days recovering from a long and arduous j joumey

Q (1). The main disadvantage of an air journey is that; [1]
(a) it is very dangerous

(b) it is very expensive

(c) it is very boring

(d) it is a fearsome experience
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Q(2). The bes advantage of air journey is that- (1]
(a) you can watch g free film

(b) you cén sip hot coffee of tes

(¢) you can watch clouds

(d) you don't foel tired afier the journey

Q (3). Pick out the incorrect statement [
(a) an airplane moves at more than Soo miles an howt tpeed

(b) one arrives crumpled at the destination after ait journey

(¢) one can casily read or sleep during air journey

(d) one can sec the shape of land from an acroplane

Q (4). How can one keep oneself busy during air journey [1]
(a) by watching movie
(b) by enjoying the beautiful sights outside
(¢) by reading and sleeping
(d) all the above
Q (5). Which of the following is a synonym for intimidated (1]
(a) terrified
(b) excited
(c) bored
(d) none of above

Q (6). The exhilarating experience that the author talks about is [1]
(a) travelling at a height of 30,000 feet '

(b) travelling above the clouds ‘e

() travelling at a speed of more than 500 miles an hour

(d) all the above -

Q (7). After an airplane journey, you do not have to spend time recovering because: [1]
,-(a) it has been a long and arduous journey
~ (b) you travelled above the clouds

(¢) you feel fresh and uncrumpled _

(d) you spent time reading books or sipping coffee

Q (8). Identify the antonym of the word bincrumpled from the given choices: [1]
(2) smooth

(b) wrinkled

(c) hurried

(d) crooked

Q (9). What are some of the ways suggested by the author to keep yourself occupied while on the flight? [2)

«
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E M N 2
[8xY=4]

ITI A. Fill in the blanks with the appropriate form of the verh:
Jack was unlucky this momning. Ashe (a) ______ (leave, leaves, was leaving, is leaving) his apartment -
building, he was hit on the head by a flowerpot which (b)) (fefl, fallen, falling, falls) from a |
(reached, reaching, reach, reaches) the bus stop, he saw the bus just
(is, had

windowsill. Whenhe(c)

(d) __(leave, leaving, leaves, 1eN) the station. What apityl He(e)

been, will be, was) alr‘cndv Iate for work. After 15 mimries, the next bus finally (l) o (was
(was standing, is mmdmg atands, will be

arriving, arrived, will arrive, arrives). Whilehe (g)
standing), a pickpocket (h) (steals, stealing, ﬂolc will steal) his pocket.

B. Do as directed:

1. The African elephant is the world's (large) animal. (1]
[Fill in the blank with the suitable degree of comparison]

2. My daughter is learning to play ____ violin at her school. [1}
[Insert a suitable article]

3. Elephant calves stand up 20 minutes of being born. (1]
[Fill in with- within / by / at / of]

4. The homeless beggar hasn’t eaten in days.

[Pick out the adjective in the above sentence]
5. Edit the following passage. There is one error in each line. Write the incorrect word and the
(2]

correction, against the correct blank number:
Incorrect Correct

(1]

a)__ .-

I Do you plays football? Today, football
[ was popular in every part of the world. b)__

IV. Attempt any one of the following:
A. With the help of the given clues, write a bio sketch of Subhash Chandra Bose in not more than
[5]

80-100 words:
Name : Subash Chandra Bose
Contribution : Immense, Freedom Fighter
Bom : January23, 1897 in Cuttack, Orissa.
Career : Civil Services
Achievements : Joined struggle; established Indian National Army
Motto : Give me blood and I will give you freedom i
Death : Air crash over Taipei, Taiwan (Formosa) on August 18, 1945
OR
Write the Bio Sketch of Para- Badminton player Manasi Joshi with the help of the gwen information.
Name : Manasi Joshi .
Bom : 11 June, 1989, Rajkot, Gujarat
Famous : Para-Badminton Player :
Hardships ~ :In 2011, she met a road accident, which led to six surgeries, including two amputation
surgeries. Joshi took it as a challenge and became a professional para-badminton player
within three years of the incident.
Career : Started playing badminton in 1995.
Coach : Pullela Gopichand, Hyderabad
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"+ ""Awards / Recognition :

' * 2017 - Maharashtra Rajya Eklavya Khel Krida Puraskar (Highest State honour)
* 2019 - Times of India Sports award for Best para-athlete of the year

* 2019 - BBC Indian Sportswoman of the Year

* 2020 - Next Generation Leadet 2020 by TIME Magazine

B. Imagine you have just been on a vacation to yonr favewrite eity. Write a letter to your friend
describing your visit to the new city and all your activities there, [5)
OR
Write a letter to your consin deseribing your Favourite Indian Festival,

ra— -y ‘ '
1 -

IV. Read the given extracts carefully and answer the questions that follow:

A. Carefully, he took the bottle to the sage. The sage smiled and muttered something aver the water. Then
he returned the bottle and said, “Try it out.” Rama Natha sprinkled a few drops on a copper vessel and
waited for it to turn to gold. To his surprise, nothing happened!

(i)  Name the lesson and the author of the above extract. (1]
~ (i)  Who does ‘he’ in the above extract refer to? (1]
(iii)  What was that Rama Natha expected to happen? (2]
(tv)  Pick out a word from the extract which means the same as- say something in a low or barely audible
voice s : (1]
OR

The next day at lunch time the mahout served Gajaraj his favourite food. When the mahout came back

after finishing his other chores, he was surprised to see that the food had remained untouched.

()  Identify the lesson from which the above lines have been taken. (1]

(i)  Where was Gajaraj? Why had he not eaten his food? (2]

(iii) ~ What was the mahout’s guess about Gajaraj's health? (1]

(iv)  Which of the following words means the same as — ‘daily duties’? (1]
(@) chores (b) mahout

B. The Raven, who did not see the joke,
Forgot that his voice was just a croak.
He opened his beak, in his foolish pride-
And down fell the morsel the Fox had eyed.
() Identify the poém and the poet.
(i) Why did the Raven open his beak?
(iif)Why did the Raven forget his voice was just a croak?
(iv) Which of the following is neare_gt in meaning to the word “pride’ in the above extract?
(a) be especially proud of - (b) beautiful
OR
Let me use my heart to see,
To realise what friends can be,
And make no judgements from afar,
But love my friends the way they are,
(i) Name the poem and the poet.
(i) What does the poet say we should use our heart to see?
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(iii) Give one reason why we ean say that thie poen i¢ & prayer? )
(iv) Complete the sentence: These Tines te1] we that the tpeakerie 1l
(judgemental / helpful)

V. Answer amy 4 of the following questions in shom 30.40 wede: [472m=R)
1. What did the second bird say 10 the Ling?

2. What did Patrick think his omt wae playing with? Wha wae it really?

3. Why does Reynard regard that pride is not wise?

4. How iz life at home according 1o the poet?

5. Give one reason why the man and his wife were not able to fall adleep?

6. Why docs the speaker want to do more for her friend?

V1. Answer any 3 of the following questions in about 50-60 words. [37dm=12]
1. In what subjects did the little man need help, to do Patrick’s homework? How did Patrick help him?
2. How did the man and his wife get help from the kotwal in Rama to the Rescue?
3. How was Mario able to find his real friends? Do you think the magic chair test was goad? Why do
you say so? _
4. How does the poet distinguish between a house and a home?
3. How did the rishi explain the different ways in which the birds behaved?

VIL. Attempt any two of the following questions in about 80-100words: [2#5m=10]
A. He kept trying to sit on the magic chair and kept falling to the ground until, suddenly, he tried again
and didn’t fall. This time he sat, hanging in mid-air. Then he Jfinally experienced the magic that his
grandfather had been talking about.
Imagine that you are Mario. Write a diary entry expressing your thoughts on friendship and how your
grandfather’s idea helped you discover your true friends.
OR
B. “There is no magic potion that can turn things into gold. You worked hard on your land and created
this plantation. While you looked afier the trees, your wife sold the fruits in the market. That's how
you got this money. It was your hard work that created this wealth, not magic’
With reference to the above lines, imagine yourself to be Rama Natha and write a diary entry expressing
your thoughts about the wisdom shared by the sage.
OR
C. Ut’s not only Gajaraj who found a friend’, said the mahout hugging the farmer. ‘I've found one too.’
With reference to the above lines, express your feelings in the form of a diary entry, imagining yourself to be
the mahout.
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| Read the following passage and answer the questions.

No of Bides: 04

#E TIN: | W oy | U} WA SE: | A AT | O AAT: | T A
& e | g B | g gfe Sl = 1 Fraer gfien Feft T e A

FR: gEex: | v SfFar, wrvedt qaehifd: 7

p—

o TTETET: | TEAT: TEE: | TEET: T |

A. Answer in a word.

Yax2=1
1. T: &7
2. Tq: &H:?
”  B. Answer in a sentence. 1x2=2
1. TEr &r?
C. Do as directed. 1x2=2

1. Write the Sanskrit word for ‘FATHER’

2. Write the Sanskrit word for ‘BAD’




TAATCHHHTAH

Il Identify the pictures with Sanskrit words.

SR e

4

R
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HPIYTHAATHTIH

Il Fill up the blanks with the suitable letters as directed. 1x5=5
1PN &, ssemsssc U, owesmemne , 9

2. AAATI: =, memmmmemmene v q, I, % Wy SSem— "

3. FATATIAHT: - =mmmmemmme -, O, W, ————

4, sEfigsrgaR -, §, -, G G %

5. WgMT:-§, ¥, -——— q{, ¥ & % " ¥

IV Split the word in to letters. 1x5=5

1' W - q.'.q' q+-—-ma—’ 3{! §+§1 q"‘__—'_"’"’ ’ 1{

2 G o AT, GHE, et
3. Hu<T . Y +3T
4. FHF: - H, e 05—

5.AWH - N, e+ T,
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CLASS: VI
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Reading Time: 8-8:15 am
Writing Time: 8:15-10:45 am

GENERAL INSTRUCTIONS:

i. This question paper consists of

39 questions in 5 sections.

estions are compulsory. However, an internal choice is provided in snme questions

i. All qu
one of these questions.

A student is expected to attempt only

iii. Section A consists of 20 objective-type questions carrying 1 mark each.

iv. Section B consists of 6 Very Short questions carrying 02 marks each. Answers to these

questions should be in the range of 30 to 50 words.

v. Section C consists of 7 Short Answer type questions carrying 03 marks each. Answers to

these questions should be in the range of 50 to 80 words.

vi. Section D consists of 3 Long Answer type questions carrying 05 marks each. Answers t0

these questions should be in the range of 80 to 120 words.

vii. Section E consists of 3 source-based/case-based assessment units of 04 marks each with

S1 No. QUESTIONS

sub-parts.
IMARKS |

]
1
]

SECTION A |

Select and write the most appropriate option out of the four options given
for each of the questions 1 —20.

1 [dentify the characteristic of metal from the options given below

a) good conductors of electricity

b) bad conductors of heat
c) gaseous at room temperature

2 The correct explanation for the term mass is
a) mass is the measurement of amount of matter present in an object

b) mass is the measurement of amount of space occupied by an object
c) mass is the measurement of amount of density of an object

d) both (b) and(c)

3 Which one will show a metallic lustre?
a) Surface of a rubber

b)Freshly cut surface of a metal

c) Surface of a glass

d)Surface of a non-metal

1
|
. |
d) transparent and shine brightly whén polished. j
| j
1
1

j

4 Identify the gas which is abundant in Earth’s atmosphere

a)Oxygen
b)Nitrogen

¢)Carbon-di-oxide

\




d) Argon ¢ Sunid y
- =ty of oo Body a4 T
Water plave an impertant tole in ftrhic TionTng OF .

n)n universal splvent
fyligid
¢ tranaparen
d)luetrons
Which oof the follo
n) Imp>lg
b 10p> 100k g
¢) lg~1mg
d) 100kg=1000g
“[An experiment was condi ted in A
{rhrrl\ trangparency. A source of hg
Sheet 1: Oily butter paper
Sheet 2: Wooden slate

Sheet 3: Clean glass
j | Sheet 4: White tissue paper

Which one of the following is correct?
/ Objects

wing i¢ fhe comreet option’

smi's classroom with different sheets v
1 was observed through these four shets

ISl Translucent | Transparent

l

paper

e ORIkl Translucent Translucent Opaque

Transparent

Translucent Transparent

ST NPl Translucent | Translucent

table top

White tissue Transparent Translucent

Translucent

paper

a) Herb
b) Shrub

c¢) Climber
d) Creeper

9 e removal of waste substances from the body is called
a) reproduction
b) respiration
c) breathing
d) excretion

10 [Which is the correct set of parts of a pistil?
a) Ovary,style and filament
b) Ovary,style and stigma
¢) Ovary,anther and filament
d) Filament and anther




11

13

14

The S unit of temperature is

- » leaves 1¢ shored as
I'he food prepated by the leaves

n) starch

Iv) cugen

C) protein

(1) fate

I'he primary function of a cem i .
n) conduction of water and minerale
1) petform phetosynthesie

o) formation of food

d) Storage of food

: il ] T Lo I
Digital thermometers measute temperatute using which senar

a) Light sensors

1) Sound sensors
¢) Heat sensors

d) Pressure sensors

a) Kelvin
b) Joule
¢) Degree
d) Celsius.

1§

The word “habitat” means:

a) The community to which an organism belongs.
b) The conditions under which an organism lives.
¢) The food that an organism feed on

d) The place where an organism lives.

16

Frogs dwell in water or nearby water as

(a) it respires through the skin.

(b) it can see through its transparent eyelids whilst swimming.
(c) its hindlimbs are webbed, facilitating to swim.

(d) water is a good source for food.

Note: In the following questions 17 to 20, a statement of Assertion is
followed by a statement of Reasoning. Choose the correct answer from the
following options.

(a) Both assertion and reason are correct statements, and reason is the
correct explanation for assertion.

(b) Both assertion and reason are correct statements but reason is not the
correct explanation for assertion.

(c) Assertion is true, but reason is false.

(d) Assertion is false, but reason is true.

17

Assertion (A):Some materials float on the surface of the water while others
sink.

Reason (R): The materials which are difficult to compress are called hard.

18

Assertion (A):All living beings reproduce.

Reason (R):Reproduction is the

process of producing new ones of one’s own
kind.

19

Assertion (A): Handspan cannot be

used as the standard unit of length.
Reason (R): The length of the hand

varies from person to person,




Assertion (A): Oxygen is used for breathing
OFEANISMS are consuming it.

Classification of materinls s essential. Justify.

:
Reason (R): Oxygen of the atmosphere get ueed up gince a large number of

Section B

RS

Compare the thododendrons of forest of Nilgiris and Sikkim

Camels in the desert have lnng ‘Icg‘; whereas those in mountaing have short
legs. Justify

a)Name the device used in the above image to record the temperature.
b)Mention its benefit.

25

Write one example for each of the following types of motion. 2
a) Rectilinear
b) Circular

26

Explain the difference between taproots and fibrous roots. 2

Section C

27

a) If you are sitting in a moving bus, are you at rest or in motion?Justify. 3
b) Group the following into moving and stationary objects:house top, minute
hand of the clock,table, flying bird

28

a)ldentify the picture given above and mention any two places where they are
found in India.

b)How is it useful for us?

29

“All living things respond to stimuli.” Explain the given statement by citinga [3
suitable example.

30

Mention any three precautions to be taken while measuring temperature using
a clinical thermometer.

(W)

31

a) Jenny wants to measure the height of her son. She asks her son to stand against[3
a wall. Which picture shows the correct way of marking his height?




B R

S0 J I

i

1) The child's height is 1.2 m. Convert it into cm.

32 |a) Frosted glass cannot be used for the front window in any four wheelers 1
|

Comment. \
b) Name two materials that are sofl. ———
33 |Draw a neat labelled diagram of the life cycle of a mosquito. 13
Section D '
34  fa) Draw a labelled diagram to show the composition of air. 5
b)Why do policemen regulating traffic at a crowded crossing often wear a
mask?
35 1.a. Put the stages of growth of a bean plant in proper order. 5

b. Give reason
i. Seeds require water for germination.
ii. Roots always grow downwards.

36  |Observe the diagram and answer the following questions: 5

a) What do you mean by the term “temperature”?

b) How much is the temperature recorded in the given thermometer?

¢) What is the normal temperature of a healthy human body on Celsius
and on Fahrenheit scale?

d) How much lower is the temperature measured in the armpit
compared to the actual body temperature?

e) Mercury thermometers are being replaced by digital thermometers.
Give a reason.




e T —

17

- Section ¥,

Rohan conducted an expetiment 1o utdetstand the solubility of different
substances in watet, He took three glacses of water and added 3 di fferent
substance 1o each glacs: ealt in the fires haes, sugar in the sec

ond, and sand in
the third. He stivred each soltion for § mimites and then ohterved what
happened.

8)What do you obeerve about the solubility of ealt, sugar, and aand in

DI Rohan had used ot watet instead of cold water, how might the sslubility
of salt and sugar change? |

SYRased on vour observations, how would

you classify subatances like salt.
___ [weat, and sand in terms of their solubility?
T et e e s OV VST

Children went for a nature walk The

y came actoss a variety of plants,
ncluding grasses, bushes and large trees. They were asked to ohserve and
record the features of different plants and complete the questionnaire.
Observe the figure and attempt the questions that follow it.

(a) Label the parts (1), (ii), (iii) and (iv) in the figure.

(iv)
(iii)

(ii)

(i)

T

(b) What types of venation does the leaf have?
(c) What type of venation is seen in grass leaves?

39

water? |
What do vou infet from the sbove s tivity? '

"
l
r
I

A

a)Four children measured the length of a table which was about 2 m. Each of 4
em used different ways to measure it.

i. Sam measured it with a half metre long thread.
ii. Gurmeet measured it with a 15 cm scale.

iii. Reena measured it using her handspan.
iv. Salim measured it using a 5 m long measuring tape.

Which one of them would get the most accurate length? Give reason for your
answer.

) State two precautions to be observed while measuring length with the help
of a metre scale.
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1. This Question Paper has 5 Sections A-E.
_Section A has 20 MCQs carrying 1 mark each
_Section B has 5 questions carrying 02 marks each.
Section C has 6 questions carrying 03 marks each.
Section D has 4 questions carrying of 05 marks.

Section E has 3 case based integrated units 0
subpartsof the values of 1, 2 and 1marks each respectively.

?\’n&'ﬂt\)

All Questions are compulsory.

f assessment (04 marks) with

A
E Section A Marks 'I
’ No _Jl
1 |
|
! 1. [The numeral for “Nine crore fifty thousand seventy five” is . |
|' a) 95,000 b) 9,00,50,075 c) 9,00,05,075 d) 9,50,00,750 \
[ 2. |The number of prime numbers between 30 and 40 is ; . 1 "
a) 3 b) 1 c) 4 d)2
3. | The predecessor of 1 in natural numbers is . : 1
a) 0 b) -2 ¢) 1 d) none of these
4. | 5lessthan (- 4)is b e 1
a) -9 b) 9 gl d)-1 :
'.—"5. | A fraction :quivalent tf 2/3 18 R N &
S .. : T——-—-'-
6. | (-35)* (-32) is equal to .
a) 67 Bj =87 s (g)=2 - @y
: ¢5¢] 4,903 is , :
7. | - The place value of 5. m.7'4,52 90315, , 115 v it
2) 50 million  b) 5 million ¢) 5 hundred thousand ) 5 ten th
1.
T

T 2 |

| 300cm=___-m | |
- 2) 30 b) 100 c) 1000 92 |




]OHE‘ less than 60000 ie

n) 59000 1) 5000 ) 600 dy 499
The second compoeite nimbet ¢
n)d RG] ¢y ? dy R
IELP
— isan example of frmctiony
n) proper k) it € improgser dy imlike

18 the greatest nepative inteper

| n) 1 )2 t) -1 dy 0
(Numbers 1,2, 3,4, 5,..... are also called as numbers

a) Comnting  b) whole c) prime d) composite

isafactorof 38.

a)3 b) 9 )19 d) 8

i The grem‘céf ﬁ-dipjil number formed using the digits 7, 4,1, 8,0,5is
l 2)785410 b) 875401 c) 875410 d) 875140

| %ofM is equal to .
a) 7 b) 7 c) 17 d) 28

Which of the following is not a factor of 27?7
a) 6 b) 9 c) 27 - d)3

The sum of two positive integers is always 3
a) Negative b) 0 c) 1 d) positive

Direction for questions 19 & 20: In question numbers 19 and 20, a statement of
Assertion (A) is followed by a statement of Reason (R). Choose the correct option

19.

Assertion (A) —The succeeding number of the number — 1 is 0.

Reason (R) — Succeeding number is the number which comes after a number
a) Both A and R are true and R is the correct explanation of A

b) Both A and R are true but R is not the correct explanationfof A

C) A is true but R is false

d) A is false but R is true

T T

20

<

Assertion (A) :An improper fraction is a fraction whose numerator
| is greater than or equal to its denominator.

' 5 . . .
Reason (R) : - Is an improper fraction

a) Both A and R are true and R is the correct explanation of A
b) Both A and R are true but R is not the correct explanation of A
C) A is true but R is false

d) A is false but R is true
Section B

21,

Express 36 as the sum of two consecutive odd prime numbers




22, | Reduce the fractions to theit lowest form E"
14 | 28 ‘
— a) 20 Y) 30 .
23 | Using the number line, mark the integer which 1s 6 more than -2 2
24 a) What is the last natural numbet?
- b) The successor of the greatest S-digt nomber
25, a) Write 3 crore + 4 thonsand +7 1akh 45 hundred in standard form 1
M Roman numeral of 400
1 SEC TION -C '
3_6_ "1 a) Find the LCM OF 40 .50 113} common Eiiviéinn method
b) Wnite nl] the factors of 26
A:?? 1 n) W h’al 8 thc sum of 2— nnd 3%
b) Express the fractions in ascending order
- g R R
| 7. %213 ’9 ’5 . —
1 28. | @) Write all the integers between -3 and 2
i i b) Fill in the proper sign >, < or =
| 0 -22@-24 o )17
29, |Ina group of 6350 people, 1250 watch News channel , 3155 watch Discovery channel 13
! and the rest watch Movie channel .How many people watch Movie channel ? ,
1 30. | Is the number 68148 divisiblea) by4 b)by5 c)by9. Show the working. E
| | |
I : " , 3
31. (a) Find any two equivalent fractions of E ‘r’
b) Complete the factor tree
69 :
SECTION-D
32. a) A box contains 50 packets of biscuits each welghlng 140 grams . 5
| How many such boxes can be loaded in a van carrying 700 kg ?
b) Find theproduct of the largest 5-digit number and smallest 3-digit number.
33. |a) Find the prime factorisation of 112 5
b) What is the third and eighth multiple of 47 ?
34, In a bunch of 30 flowers, 25 are roses . In another bﬁn_ch of 42 flowers ,
35 are roses. Which bunch has more fraction of roses ? 5
" |a) Find the sum of ; . .
33. (i) 145 and-525° (i) -178 and - 672

3



_“1'1‘1- Arrange the integers in deccending ordet
12,90, -12, 1R, - 49
¢ ) Subtract 15 from - §

SYCTION.®

36 [With the help of the numibser line | answer the following questions

B e e B . St I B TR AR N e .
-7 -8 & 4 % _2 1 O 1 2 3 a4 % &8 ¥

a) In the pair (6,-2) , which number is 1o the lefl of the other number on the number line ?
by | The sum of (-4) and (-1)
The predecessor of -5

'
|

I

¢ | _ _ i‘ B
. ‘The figures given below are as follows [
i | -~
|
. = p
2 4 8
a) | Are the above fractions equivalent ? |
b) | Find the sum of ; and % 2 |
€) | Write the fraction that is in the lowest form. l Ii
38. | The figure denotes the factors of 35 and 40
Factors of 35 . Factors of 40
2 4 ;
g8 10
20 4o
a) | What are the common factors of 35 and 40. l
b) |List any 4 factors of 40 2 -
c¢) |How many factors does 35 have ? 1
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Class- V1 Marka: 80
Date- 03.10.2024 Reading Time: 8.00am to .15am
No. of sides: 06 Writing Time: 8.15am to 8.45am

General Instructions:-

i, Question paper comprises six sections- A, B,C,D, E and F. There are 38
questions in the question paper. All questions are compulsory.
ii. Section A-From question 1 to 20 are MCQ of 1 mark each.

~ iii. Section B- Question no 21 to 26 are very short answer type questions
carrying 2 marks each.
iv. Section C-contains question no 27 to 33 are short answer type questions
carrying 3 marks each.
v. Section D-Question 34 to 35 are long answer type questions carrying 5
marks each.
vi. Section E-Question 36 to 38 are case based questions of 4 marks each.
vii. Section F-Question 39 is map based question carrying 5 marks with two
parts, 39 a from History (2marks) and 39 b (3 marks) from Geography.
viii. There is no overall choice in the question paper. However, an internal
choice has been provided in few questions. Only one of the choices in such
questions have to be attempted.

Section -A 1x20=20
L. | I the time on GMT is 1:00 pm then what will be the time on 32°E? 1

a) 3:08 pm b)3:08 am c¢)2:56am d) 2:56 pm

2. | Which of the following about family is incorrect? 1

a) Family is the basic unit of society

b) Family is the first place where child starts to learn and receive
early education.

¢) Family is mini society for child and here child learn about
socialization by observation.

d) Family may be bound by force and may exist without love and

respect

3. | What is not an example of a cultural practice that unites India? 1
a) importance placed on family values
b) celebration of major festivals like Diwali

1



|

~¢) tradition of weanng sari and dhoti

. J Members of Parliament are elected

d) visiting different states
| Which of the following is a primary source of history?
a) A history textbook  b) An ancient manuscript
¢) A documentary film d) A modern newspaper
1 Snprcnw court of India s situated in

a) Mumbai b) New Delhi
©)Chennai ~__d) Kolkata

——— s~ ey

‘What is the primary reason for children to take on more responsibilities |
at home as they grow up?
a) To learn new hobbies b) To help their parents and family
_1___©)To avoid school work d) To gain more freedom

a) Only for Rajya Sabha b)Only for Lok Sabha

! b) For Rajya Sabha and Lok sabha d)For United nations
j‘ 8. | What does a globe represent?
‘ a) The Solar System b) The entire Earth
¢) Only landmasses on Earth d) The Moon
9. | Who is the head of the state?
a) President b)Chief minister
¢) Prime minister d)Governor
10. | Which of these is an economic activity?
a) Social b)Patriotic
¢)Religious d)professional
11. | Which of these is an example of payment in kind?
a) Wage in cash b)Free lodging to labour
c)Salary in cash d)fee
Assertion(A): There is an imaginary line running on the globe that
12. | divides it into two equal parts.
Reason(R): This line is known as the equator. The northern half is
known as the Northern Hemisphere and the southern half is known as
the Southern Hemisphere.
(a) Both A and R are true and R is the correct explanation of A.
(b) Both A and R are true but R is not the correct explanation of A.
(c) A is true but R is false.
(d) A is false but R is true
13. | What is a millenium?
a) Span of 100 years b)Span 0f 1000 years
¢) Span of 500 years d)Span of 50 years
14. | How does the use of spices contribute to India’s food diversity?
a) It limits the variety of flavors available
b) It creates a uniform taste across all dishes




c) It allows for regional variations in food preparation
d) It discourages the use of fresh ingredients \
The Prime Meridian is located at: ' . |
a) 0 degrees 1 ongitude bY90 degtrees Fast Tongitude
c) 90 degrees West Longitude d) 180 degrees !.cmgﬂhde
\

. | A timeline is used to:
a) Show the location of historical events

b) Display events in chronological ordet

¢) lustrate different 1ypes of maps

d) Represent ancient cultures - _ \

The study of past events and the way they are recorded ia called: N
b)Archaeology

d) Sociology s

a) Geography

¢) History .
What is the purpose of a map’s scale?

a) To show the map’s title
b) To measure distances on the map

¢) To identify countries

d) To represent different climates
What is one of the ways in which communities in rural India support

each other?
a) By holding social events

b) By sharing agricultural practices
c) By organizing sports tournament
/ d) By conducting religious ceremonies
what will be the time on GMT?

If the time on 40°W is 2:00 am,

[
Fo.
| 2) 11:00 pm b)3:00am c)5:00am  d)7:00 pm
Section-B
21. | How many years have passed from:
a) 564BCE till 200 AD
b) 1997 AD till 2024 AD
22. | What are latitude and longitudes?
23. | Place the following date in chronological order:
567 BC, 765 AD, 2024 BC, 345 CE
24. | What is the importance of a family?




Observe the picture and answer the following

28, | Describe the types of activities practiced by people inr a society. 2
26. Analyse the importance of “separation of power” 1
1 o Section-C - Ix7-=11
27. [ Discuss the structure of the Indian povemment. Include details ahout the 3
three branches: Executive, Legislature, and Judiciary.
28. | There is great value attached {ofﬁe(_)_p'ié_ who are eni;aged in community 3
service activities. Comment on this statement.
e S— S—— - - S—
| 29. | Describe interdependence in a family. 3
30 | How many types of maps are there? Explain, 3
31. | India has a wide variety of diversity in terms of culture, tradition, food, 3
textiles. Why?
32. | What kind of source of history is shown in the picture? What are the 3
other sources that helps in understanding history?
33. | What were the reasons that led to the settlement of early human? 3
Section-D 5x2=10
34. | Family is a part of community. Comment on the statement. 5
OR
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| 38. | Expl
| OR
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fa 4 NON-6¢ onomic

“a) Which of the following picture depic
on-profit sector compared

) Evaluate the impact

corporate seclor.
x

to a job in the |
s explain how the setting of a work place

¢) In about 25-30 word
influence the individual working.
ain the significance of timeline in history.

|
e

LA

|

|

|

.J activity?

f of a job in the n
|

|

[

|

dian festivals and religious ceremon!

. (- -
Section-E l 4x3=12

| What role do textiles play in In

N

| instance a railway station, a sc

Read the extract and answer the following questions:

A map is like a treasure guide; it shows you where things are and how t0
get to them. we understand that a map is a representation, or 2 drawing,
of some area — it may be a small area (a village, a town, etc.), a bigger
area (say, your district or state), or a very large area like India or even
the whole world. Our map has small drawings of actual buildings and a
few other elements, but there would not be enough space on the map of

a large city or a country to draw them all. Instead, 2 symbol is used to
Is for different kinds of buildings (for

represent these features — symbo
hool, a post office), for roads and railway

lines, and for natural elements such as a river, a pond or a forest.

36.1-Which component of map represents distance on the map?

36.2-Draw the symbol for post office.
36.3-Name the cardinal directions found on a map. : 2

e

7

Read the extract and answer the following que@ﬁons:

If you travel through India by train, you will notice not

only changing landscapes but also many different types of
dresses and food: you will hear different languages, familiar
ar{d l.mfami]iar, and see different scripts on the way. Even
‘within your own region, you will often come across people

5



[ frovm other rarte of Trehia vath dhvf¥ferent cnetome ar d
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reity in language known as?

17 1- What 12 dive
tton/Wool) 1s a commonly used fabric in India

17 2 {(

()

\‘Il"”‘”‘l!_‘.
Name any four things where you can find diversity in Indiz

‘8 | Read the extract and answer the following queshons

Dr. APJ Abdul Kalam was born into a Tamil Muslim family. Abdul

' Kalam was the youngest of five siblings. Since he was a child, Kalam -

| has always helped his family. He was captivated by studies, particularly
| mathematics, from a young age. During his school years, Kalam was

recognized as a brilliant and dedicated student.

8.1- Where was Dr. Abdul Kalam born?
8.2- When did he become the president of India?
8.3- What was the nickname given to him and why?

w
(o et et

]
|
|

b) Lu

2+3=5

|

| SECTION-F 3=3

I L Complete the given flow chart. - 1x&=2
i._evels of government

[ 39,
r

Name any three states of India and their capitals in the
given map of India.
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I.  Choose the correct option.

Max Marks: 30

Reading Time: 8:00 am. to 8:15 a.m.
Writing Time: 8:15 a.m. to 2:15 a.m.

Which generation of computers used vacuum tubes?

(5X1=3)

2 First Generation  b) Second Generation  ¢) Third Generation  d) Fourth Genaration

a) Itis a type of programming language

> What is the role of a Sprite in Programming projects?

b) Itis an object or character that performs actions

¢) It controls the flow of a program

d) Itis a part of a computer's hardware

What is an algorithm?
a) A set of instructions

()

c) Arecipe to'bake a cake

b) A mathematical equation

d) A map

4. What is the name of the workspace where you can drag and drop blocks in PictoBlox?

a) Stage b) Scripts c) Toolbox d) Canvas
5. Doing something repeatedly or repeating code is called a
a) Code b) Loop c) Bug d) Program
II. Fillin the blank. (5X1=5)
1. A compiler translates the enti-re éource code into in a single batch.
2. The= - number system is also known as the base -10 system.
3. The in the PictoBlox is where sprite move, interact, and perform actions in
projects.
4. - Shape represent the start and end of a flowchart.
5. data type stores whole number.

lIl.  Say True or False.

(6X %=3)

1. Videos, music and pictures files cannot be played using a media player.

2. Programming language help us communicate with computers.

1




1. Pseudooode is p wh programming language

y 16 describe #lgor ey aing A specific
4. Characler data types pre yeed 1o Sore dacinmal valses

ifir il Oopar ATOY

5 The AND operator 1s & type o Le

i The binary pumbist eyetern (HSes h""‘/ dn Aigike  WhIGA are | ane i

V. Answer in one wortd (5X1=5)

diry t Frje Elp Y

1 What le the file peien&ion for s

frlrall Shia A A s b Al Aharavtoara

s Which paletis in SieRing mlleie dy ey

1 Name the araa n P etoBimy interfnon wivars the agite parfirma avtinng 1ha 1ar] a0 the arripta?

4 What do oparators oo in wling?

5 Can you declare two variables in a program with the same name’”

V. Answer the following

1 What is Number system and mention its types?

2 What is Coding and Give few real-lifeapplications of coding?
3. What are some common data types in programming?

4. What are the shapés used in Flowchart and give its purpose?

5. How do you make a variable in block coding?

performing an addition operation on two variables in

vi. Write algorithm or pseudocode for
(1X2=2)

a program.
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